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Topic:- GENERAL HINDI

1) 5 & 9 T FUS AHEBR BT TF IaTER0T T81 82
1. T I 4= fgd , arde gl o™

2. g it foiett , S Rids ot @ &gt

3. 9¢d - Sed YU 9fed , 79 WIS 9 W18

4. o § ) < fae gt

Correct Answer :-

- g fofah & fieaht, o Rids ot 9 st

2) YEAR DI 2

1. U8 9 $B &1 71 3! 3fiE! &b YA Sd-ad |
2. TTA-THA TE TS TS 8l T 3! Sl & W |
3. QAT IS 1@l & T I8 T HS ol T
4. I i@ F A TEA-4Td T8 e TS &1 T4

Correct Answer :-

o ISP TG F GEA T/A-a@d I8 99 TS 71 T

3) STHTR-UTATA TP BT - GeTax &1 3 frg e A A warg?
1. 9gd TP Hg-Td BT

2. 94 IS Tad BT

3. 9§ HH T BT

4. 95d HH TTd HAT

Correct Answer :-
o Sgd 3% Uad BT
4) U o A P TR, TSR qUT IR FT TS 37 qargardt e 82
1. W
2. WR
3. Ul

4, TAudTe

Correct Answer :-

5) I 1 g & A 9 I 9L faaH T3 22


Lenovo
Stamp

Lenovo
Stamp


1. 3fHdT
2. 3 Hd
3. 3

4. 3

Correct Answer :-

6) “3ITIT — STHUT, Y — Y 37 HIATNG Mgl F HHRT: [ 3 aredt ufery &Y g2
1. TT1 BT, IR I, FUT HRAT, ARG AT
2. HUTHRAT, &1 HA1, AFRTD TieT, RIS I
3. T S, AR U1, RN I, HT AT
4. QRIS T, &7 BT, HUT HRAT, AFERIS AT

Correct Answer :-

7) NaETR & 9 91 THE 32
1. 37t HIg

2. HHYRY

3. 9gsife

4. e

Correct Answer :-

8) ‘frd gau ® 7HaT T8 ¥ I IR & 1T TP g qagY -
1. fnf
2. Fdm
3. fsgR
4, ffm

Correct Answer :-

9) fAfafad d § 19 A1 arr &1 Mies 3 78 g2
1. TR

2. HTYT ST

3. MY faeeiyor

4. faurg o1 que-gus®

Correct Answer :-

10) ‘gHMAEr ¥ Uged Y B AT 8?2



1. o
2. drdrl
3. @A
4.3

Correct Answer :-

Topic:- GENERAL ENGLISH

1) Choose the option that best expresses the meaning of the highlighted idiom/phrase:
'Why have you got such a long face?' 'My boyfriend doesn't want to see me any more.'
1. look calm

2. look excited

3. look anxious

4, look sad

Correct Answer :-
» look sad

2) A sentence with an underlined word is given below. Choose the correct option which is closest in meaning to the underlined word.

A chairman is at the top of most company hierarchies.
1. ranks

2. policies

3. board of directors

4. big wigs

Correct Answer :-
* ranks

3) Out of the following options, choose the most appropriate tense that best fills in to complete the given sentence:

The struggle for existence and the survival of the fittest, is Darwin's Theory of Evolution that accepted universally.

1. was being
2. is being
3.is

4. had been

Correct Answer :-

4) Choose the option that correctly sequences the following sentences.

1. People with severe gum disease are almost twice as likely to suffer from a heart attack or stroke.

2. However, one recent Belgian study found that when people with gum disease chewed food, bacteria were released into their
bloodstream that could increase inflammation.

3. But researchers are still trying to find out if there is a cause-and-effect relationship.

4. Why this happens is yet unknown.

5. Even those with moderate gum problems have a higher rate of circulatory problems.



1. 32451
2.21354
3.45231

4. 13542

Correct Answer :-

» 13542

5) Out of the following options, choose the correct form of verb that is in agreement with the subject for the given sentence:

How many pieces the consignment consist of?
1. do

2. does

3. has

4, have

Correct Answer :-
« does

6) Out of the following options, choose the correct form of adverb for the given sentence:

We entered the room
1. funnily

2. quietly

3. enormously

4. motionly

Correct Answer :-

e quietly

7) Out of the following four options, choose the incorrect sentence:

1. Ronald Reagan and his wife Nancy Davis starred opposite each other in the movie 'Hellcats of the Navy'.

2. Andrew Johnson, the 17th president, was the only self-educated tailor ever to served as president.

3. When the Hoovers did not want to be overheard by White House guests, they spoke to each other in Chinese

4. Julie Nixon, daughter of Richard Nixon, married David Eisenhower, son of Dwight D. Eisenhower.

Correct Answer :-

« Andrew Johnson, the 17th president, was the only self-educated tailor ever to served as president.

8) Complete the sentence choosing the right option:

Raju was confident that his would never fail him.
1. confidence

2. confident

3. comfident

4. confedant

Correct Answer :-

« confidence



Topic:- GENERAL KNOWLEDGE

1) Light-year is a measurement of: / UBIRI Ty fore &1 TP HIGT %:
1. Distance in Space / Giﬂﬁ&‘lﬁ@

2. Speed of Light / UhTRI &1 T1fcy

3. Speed of Satellites /mﬁ?ﬂﬁ

4. Time in Space / 3dRe& & T4

Correct Answer :-

« Distance in Space / 3faRel & g

2) Name the largest Physiographic Unit of India? /

YR 31 gaa 71 Winifae so18 (i gfte) &1 am Tang?
1. Thar Desert / YR I

2. The Peninsular Plateau / UGIMT U8R

3. The Himalayan Mountains / %thﬂ?f

4. Great Plains of North India / 3R HRd & M

Correct Answer :-

« The Peninsular Plateau / UGG TSR

3) How many times has Dr. Bhagwat Dayal Sharma served as the Governor of MP? /
ST, WITad Tl YT A A USRT  ISqUTd & U A fberil IR PTEHR HHT?

1. Once / U AR

2. Four / AR dR

3. Twice / QI SR

4. Thrice / TH IR

Correct Answer :-

e Once/Udh dR

4) Baichung Bhutia is an Indian legend in which sport? /

Y yfeur iy @ A te YR fewre §2
1. Archery / TRt

2. Hockey / Gidt

3. Shooting / feT

4. Football / Gesid

Correct Answer :-

+ Football / Geard

5) has recently signed an agreement with IREDA (Indian Renewable Energy Development Agency) for financing a shared infrastructure of two

large Solar Parks in MP. /



A 3T 8 H U YR H G 93 IIeR UTh B "I SMYRYA W91 ®t faw Gifta $31 & g s¥s1 (R sigra Soit faery goledh) & a1y e
TOEd W gweR fpu §?

1. Ministry of New and Renewable Energy / Tal-l Ud 3{& 3ol BT

2. International Solar Alliance / Giﬂ?f@ﬂ IR TTeeYT (éCH-‘{HQ'I TR leliH)
3. Rewa Ultra Mega Solar Limited / 3aT a@ﬁm@?ﬁﬁ%@;

4. MP Power Management Company Ltd. / H& TR TR BT e ol fafies

Correct Answer :-
« Rewa Ultra Mega Solar Limited / a7 3fegT TR fafes

6) What is the percentage of coal reserves in Madhya Pradesh to India’s total coal reserves? /
YRA & T AT HSR B! a1 J Aeave™ § H1ad & YR &1 Ufawd w1 82

1. Less than 5% / 5% I &H

2. 6-7%

3. More than 7% / 7% & 3T

4. 5-6%

Correct Answer :-

+ More than 7% / 7% ¥ 3{fH

7) The safe handling and transport of Living Modified Organisms is carried out through which international agreement? /
Sfifea Suiafa siial 1 YRfga Sare SR uRas forw siarfgia wasia & arer & fovan sirar 82

1. Basel Convention / 9T Gy

2. Kyoto Protocol /?ﬂ:h—cpf PIEEA]

3. Cartagena Protocol / PlefoHT Meldra

4. Montreal Protocol / Aifad PIEEAE

Correct Answer :-

« Cartagena Protocol / BTeToHT Uieibia

8) The Disaster Management Act was enacted on ./
3TueT yaeA ifufraw, ad o @y frar AT

1. 2010

2.2005

3.2015

4. 2012

Correct Answer :-

e 2005

9) Which religion was controversially depicted in the novel ‘Satanic Verses’ by Salman Rushdie? /

A 934 gR1 forfad Su=arg A a3fer d fora o o) faarerug v A Rifya fovar man ur?

1. Hindu / &g
2. Jewish / Tgal



3. Christianity / S9T8 45
4, Islam / SXIH

Correct Answer :-

e Islam / XM

10) Which famous saint poet from Ujjain in Madhya Pradesh wrote ‘Niti Shatakam’ and ‘Vairagya Shatakam’? /
T SR B I=H & b uRreg wa &3 A +ifosras ok Rma=rasy forar ur?

1. Kabir/ HaR

2. Kalidasa / BTG

3. Bhartruhari / ”ﬁ%ﬁ

4. Bhavabhuti / Hayfd

Correct Answer :-

 Bhartruhari / 'J-IFI_E:"F{

Topic:- GENERAL REASONING

1) Find the missing number: / & JSIT ATd P
2,7, ____,23,34,47

1.13

2.14

3.15

4.12

Correct Answer :-
- 14

2) The below series uses a sequence of alphabets and numbers. Identify the incorrect combination: /
& 1S e srerRl ud TS BT SIHH W B 8 | TAd S uga |
(i) co789mb787na

(ii) co789mb787na

(iii) c0789mp787na

(iv) co789mb787na

1.1l

2.iv

3.1

4. iii

Correct Answer :-

o il

3) Which one of the following four addresses is NOT EXACTLY same as the one given below? /

fFrafafEd fRe e ar udl § @ 9 R 10 ud & S guH B9 91 v T8 22



OFFICE # 04, ALI PLAZA,
NEAR HABIB BANK (HBL),
I- I0 MARKAZ, ISLAMABAD,
Capital Territory 44000,
+92 51 4430622

(i) OFFICE # 04, ALI PLAZA,
NEAR HABIB BANK (HBL),
I- I0 MARKAZ, ISLAMABAD,
Capital Territory 44000,
+92 51 4430622

(ii) OFFICE # 04, ALI PLAZA,
NEAR HABIB BANK (HBL),

I- 10 MARKAZ, ISLAMABAD,
Capital Territory 44000,

+92 51 4430622

(iii) OFFICE # 04, ALI BLAZA,
NEAR HABIB BANK (HBL),

I- I0 MARKAZ, ISLAMABAD,
Capital Territary 44000,

+92 51 4430622

(iv) OFFICE # 04, ALI PLAZA,
NEAR HABIB BANK (HBL),

I- 10 MARKAZ, ISLAMABAD,
Capital Territory 44000,

+92 51 4430622

4. iil

Correct Answer :-

4) If J = 10, JASMINE = 71, then ESTIMATE = ? /
Tfe J = 10, JASMINE = 71, dt ESTIMATE = ?
1.82

2.91

3.92

4.71

Correct Answer :-

5) Find the average. /
31 1 Y|

15, 10, 40, 55, 25 & 35
1. 64

2.85



3.45
4.30

Correct Answer :-

- 30

6) Ram and Shyam can do a work in 8 days, Shyam and Sohan can do the same work in 12 days. Ram, Shyam and Sohan together can finish it in 6
days. How many days will Ram and Sohan together take to complete the work? /

I 3R A 8 3T W U &TH B X UPd &, T 3R Higd I $W &Y 12 341 d 3 Tod &1 W, 7™ 3R e Th 91y 39 6 A d Wraw
TPHa g1 I 3R Wed B TH WY HTH &) U H1 A fra= awg aehm?

1. 16 days/ 16 &=
2.10days / 10feT
3.12 days/ 12%?{
4. 8 days / 8%

Correct Answer :-

. 8days/8ﬁ:f

7) If X and Y are two sets such that n(X) = 17, n(Y) = 26 and n(XUY) = 37, then find n(XNY)./
g X 3R Y G YT 3T UPR & & n(X) = 17, n(Y) = 26 3R n(XUY) = 37, @ n(XNY) € S|
1.9
2.6
3.8

4.7

Correct Answer :-

Topic:- PEDAGOGY

1) The idea of basic education was propounded by .
gardt Rign o1 fdar gr1 ufaufea far mar
1. Sarvepalli Radhakrishnan / GdUel! TG

2. Dr. Zakir Hussin / ST, WE@T‘T

3. Rabindranath Tagore / eIy R

4. Mahatma Gandhi / HelTHT et

Correct Answer :-

« Mahatma Gandhi / 7T el

2) ‘Assessment for learning’ takes into account the following, except i
‘3R & e e A frefafaa & 9 P 3rqrar, I &) A= A @7 ST gl
1. Learning styles of students /BT Bt SifeT Afert

2. Strengths of students / BIEIKIRITCS



3. Understanding level of students / BN BT HY TR
4. Evaluation of achievements of students / @3 & Wﬁ IR

Correct Answer :-

« Evaluation of achievements of students / @TAI & Hedidh=] BT SUATrIT

3) When material learnt today hinders the recall of what was learnt yesterday, it is termed as: /
et Wit 1§ wrlt, T W TS G B 918 $A | ARy SO $Rdl 3, 39 1 $ET 91 8
1. Hypoactive inhibition / 3fd: Tfchdr SHRTY

2. Retroactive inhibition / w RNY

3. Proactive inhibition / 3FRITHY SHARTY

4. Hyperactive inhibition / sy Rty

Correct Answer :-

« Retroactive inhibition / 4T SfaRTe

4) An aggressive student, who does not conform to the norms of the school, needs help in: /

TS 3PS BT, St Td & HFS] BT T 1 ST 8, 32 7 & #ee FI srazgsar :
1. Cognitive domain / ITIHP EICE
2. Conative domain / foFaTaT® S99
3. Affective domain / HTaTH® SIHA

4. Psychomotor domain / AHIUROT STEA

Correct Answer :-

« Affective domain / HTdTH® SIHA

5) Cognitive development mainly refers to: /

AT A g1 &0 3 ot deifa wrar g:

1. The development of thought processes / i ufshansii &1 fawr

2. The development of cultural influences / W PICEIRCEaR]

3. The problems in sensorimotor responses / IdaHeR ufdferarst o JH
4. The problems in social cognition / BIElEEd ﬁ{%ﬁw

Correct Answer :-

 The development of thought processes / i ufsharsii &1 fawr

6) In Spearman’s two-factor theory of intelligence, spatial intelligence can be consideredas ./
TR & fg-ore 3fS Risia 8, wnfae gig & F U N U o GHaT 2|

1. Unknown factor / 3RITd PRH

2. General factor / YTHI HhRP

3. Specific factor / fafkry sR®

4. Multiple factor / g PRE®

Correct Answer :-

« Specific factor / fafky ®R®



7) A live chat on the Internet is an example of: /
FeI¢ W A1Sd dIadid - T I&Teu &:
1. Mobile communication / HiSTSd TR

2. Two-way communication / G-I AR

3. One-way communication / Teh-dRWbT HAR

4. Formal communication / 3NTETR® TaR

Correct Answer :-

« Two-way communication / IR AR

8) The results of which of the following tests provide a better insight for the teacher to plan teaching? /

Fafafaa & @ o a1 wdeon, Riere o) Rigor 1 9o T9F & g dgaR siael ueH Frarg?
1. Socio-metric tests / HTHTSTh-Hifddh UT&UT

2. Intelligence tests / §f TIRET0T

3. Personality tests / SATacIcd URI&UT

4. Attitude Scales / TFDHIU Tha

Correct Answer :-

« Intelligence tests / §@ g

9) Which of the following is true of Vygotsky’s theory? /

TNt F g d Fafafa A d s T aa 2

1. Operant conditioning / JHTRE He =T (m S{IP )

2. Socio-cultural approach to cognitive development / ITTH®B fapr & forg W—m BHiEEaW
3. Insightful learning / ey SRy

4. Trial and error learning / W-i@ SHfTH

Correct Answer :-

« Socio-cultural approach to cognitive development / IS fadT o ]%‘I'Q W-ﬂ'@ﬁﬁﬁ DI

10) Bloom’s taxonomy is a hierarchical organization of: /
A B afife, e o1 Ue v iae |16 3

1. Examination preparation / TRYEN Bt Rt

2. Curricular declarations /umaufe‘q’shw

3. Cognitive objectives / GRTHD G%EZZI

4. Achievements goals / U%{qu

Correct Answer :-

« Cognitive objectives / GRTE® I

11) In which type of memory, the materials are stored for later retrieval? /

5 yoR F wfa &, Il i a1e § g=.mi & e Sufyd fear wmar @2



1. Working memory / Sf&R Wfa

2. Short-term memory (STM) / 3{eqebIeres S (THCITH)
3. Long-term memory (LTM) / dtieb1ieres Sfa (TeTcTH)
4, Sensory memory / et 9

Correct Answer :-

+ Long-term memory (LTM) / €tdfesiferes wfay (TACITH)

12) Distraction means: / faedor &1 o= arad Gl %:
1. Diversion of attention / €9 ST fauy=

2. Division of attention / &I &7 fa{TeH

3. Fluctuation of attention / & @ SRRl

4, Span of attention / &9 @I 3@y

Correct Answer :-

« Diversion of attention / €9 &1 fauy=

13) Younger children can learn their subject faster if they are: /B T= v+ fywg o1 aohl & Wha a@q % afe 3%
1. Praised regularly. / fafid ¥4 ¥ W

2. Guided properly. / 3t ¥ FERd B

3. Disciplined properly. KGR &ﬁﬂTﬁiﬂ e

4. Punished regularly. / fHafid ¥u ¥ dfsd &1

Correct Answer :-

e Guided properly. 1 3 q PSR B3|

14) CANCELLED

Which of the following is NOT a teaching aid? /
Frufafea & 9 o= Te Rigor weres 32

1. Desktop Computer / el PR

2. Green Board / F afS (GUEEN))

3. LCD projector / TSl gieidex

4. Uniform dress / WW

Correct Answer :-

o Uniform dress / UhJHTT TS

15) CANCELLED

According to Kohlberg’s model, all of the following statements about moral development are true, except : /
PIgaT & Alsd P AR, Afa® e F IR A Fafafea # o9 3 F3F F sramar st a@ &
1. The highest level of morality is difficult to reach, a few people achieve it. /

BT & ITARTTR P UG ATHhd 8, FS AN 3 U Bl 3|

2. Moral development occurs in a predictable, fixed manner over time. /



AId BT AT & J1Y MP AJHTH, [T Rib A gIdT g
3. Moral development occurs in discrete stages. / s fqem, SrerT =Rul & grar H
4. A focus on socially acceptable action is the highest level of mortality. /

IR Wi HIRATS WR AT HEUT, A Sfifd &1 I=dd R 5|
Correct Answer :-

« A focus on socially acceptable action is the highest level of mortality. /

qrTfoTes W™ HIaTs TR & HEU, A ST T Je=dd Wi 8|

Topic:- PHYSICS

1) A Daniel cell is balanced on 240 cm length of potentiometer. Now the cell is short circuited by a resistance of 0.25 Q and the balance is
obtained at 80 cm. The internal resistance of the Daniel cell is: /

TP Sfaa Id 240 I At WiERrHeR wR Tgfera forar mar 1 3@ A 0.25 o F ufoRiy A =1 Gfhe giar g ik dga so I w
ure faar wirar 8| Sfaa Aa &1 sriafve ufaRiy 8:

1.050Q
2.20
3.0250Q
410

Correct Answer :-

« 050

2) The coefficient viscosity of a liquid depends upon : /

TP &9 P T UNh 59 TR F1al a=elt 2

1. both velocity gradient and area of contact / T YT 31R TUP D] & Gl
2. area of contact / JU &1 &

3. velocity gradient / CURCIUGS

4. nature of liquid and temperature / 9 @Tﬂmﬁaﬁm

Correct Answer :-

e nature of liquid and temperature / &d WW@W

3) The air between the plates of a capacitor is replaced by a medium of dielectric constant K. The electric field between the plates: /
TP GUTRA Bt Wl & §i B a1 B K WR1degd FRRI® & 710w | Iad a1 sirar 8 | Wl & §ia fagga &

1. decreases by VK times / VK T[T gedl §

2. Increases by VK times / VK AT §gdT ?

3. Increases by K times / K [ dedTl ?

4. decreases K times / K AT ¥cdl %

Correct Answer :-

« decreases K times / K AT ¥cdl %

4) The electric field exists in a region is given by Ex =30x2 If V, is the potential exists at x = 2 m and Vj is the potential at the origin, then the
potential difference Vp—Vq is: /



% &7 ¥ Hivlg fagyd 83 31 E, =30x* §RT e fHa1 a1 8191 x = 2 m W Aua v, 3k gafag w fava v, Misg 8, at fvaiar

V-V, 8:
1. -80V

2. 100V
3. 80V

4. -100V

Correct Answer :-

. -80V

5) The respective number of significant figures for the numbers 28.028, 0.0004 and 1.2 x 103 are: /
HEAT3T 28.028, 0.0004 TF 1.2 x 1073 F g A1l il & woa: 3ie &

1.5,1,2

2.5,1,3

3.4,4,2

4.5,5,2

Correct Answer :-

« 51,2

6) The self-inductance of a coil is 100mH. The magnetic flux linked with each turn of the coil ,while a current of 8mA passes through it is found to
be: /

TP Pl BT WRSE 100mH 81 FSelt & TS YU A T G0 RT3 B, 9 337 81 7oA aTell UIRT 8mA &
1.80 x 10 Wb
2.4x10% Wb
3.40x 104 Wb
4.8x 104 Wb

Correct Answer :-

7) The inductance in an LCR circuit is changed from L to 2L. for the resonant frequency to remain unchanged the capacitance of the capacitor
should be changed from Cto: /

qa%gmﬁamuﬁwﬁﬁWLﬁzL B g 91T 3 1 3ATE Mg & srufvafda vg= & fore wurfva &t enfyar &t ¢ @ 39w agan

1.2C
2.4C
3.C/4
4.C/2

Correct Answer :-

« C2



8) If a body having a charge of (- q) and mass ‘m’ is placed in an electric field ‘E’, then the acceleration of the body is: /
Tf ST (- q) 3R FHAM ‘m’ B Th a¥g $I dggd &7 ‘B’ A TWT 14T 8, d1 a%g BT @RV gl 8:

1. gE/m in the direction of E / E &1 {2 # gE/m

2. qE/m in the direction opposite to that of E / E & faudid fa=m & gE/m

3. mE/q in the direction of E / E CHRGRIR:] mE/q

4. mE/q in the direction opposite to E / E & faudia fa=m & mE/q

Correct Answer :-

« gE/m in the direction opposite to that of E / E 3! faudia femm & gE/m

9) If a beam of electrons travels undeviated in a mutually perpendicular uniform magnetic and electric fields of intensity 2 x 1073T and 1.0 x 104
V/m respectively, the velocity of electron will be: /

gfe gaae-l @1 TH d19 2 x 10T TF 1.0 x 10* V/m FoaT T8 TP RER daad TH=U gaaid R fagyga &= A famn fafea g =
FHT 7, Al SATEI T AT EN:

1.2 x 100my/s
2.3x 10*m/s

3.5x 10 m/s
4.6.3x10°m/s

Correct Answer :-

¢ 5x10°m/s

10) CANCELLED

A geostationary satellite is orbiting the earth at a height of 7R above the surface of the earth, R being the radius of the earth. The time
period of another satellite at a height of 3R from the surface of earth is: /

e Ymifa Surg eRdt 1t Ias W SWR 7R B S8 W ERdl B IRHH H 3G 8, R §dt Bt BAsa1 31 gl F Aag AR B FAR R
U 30 SUUE B! JHY 3afy g:

1. 6 hours / 6 'El%
2. 8V2 hours / 8\2 €<
3. 6V2 hours / 6\2 ©¢
4. 8 hours / 8 ©¢

Correct Answer :-

« 6V2 hours / 632 ©¢

11) CANCELLED

The value of Q and threshold energv forthe reaction (in MeV)

YEn p) 0 . Atomic masses are *F= 18.9984u
IH=10078 0=19.0036u and }n =1.0086u /

HIEATHEA YEmp) Bo (MeV ) & I Q 3R dugies 3T &1 AT Ad =, FShh

UTAT] ZeTHAT b F=18.9984u , lH-10078 O =19.0036u and ln =1.0086u

1.-1.3965, 1.5



2.4.25,-4.0362
3.1.5,-1.3965
4.-4.0964, 4.3138

Correct Answer :-
o« -4.0964,4.3138
12) CANCELLED

A series LCR circuit contains a coil of inductance 2 25H. a capacitor of capacitance (30/m) uF
and a resistor of resistance 50€). Calculate the phase difference between current and voltage

(frequency = 50 Hz). /

T AUl TEHIHR aRTY 7 ORehcd 2.25 H @il Tah $Sell, @MiXdr (30/x) uF arell Ueh
Fenfya 3R ufder 500 g e wfdws giar 81 owT 3R aees (3mafca = 50
gee) & 9 wdAed FT AUAT |

1 8435

4 89.83°

Correct Answer :-

84.35°

13) CANCELLED

An AC voltage source of variable angular frequency ‘@’ and fixed amplitude ‘V’ is connected in series with a capacitance C and an electric

bulb of resistance ‘R’.zero inductance. When ‘w’ is increased : /

e Hivfig emgf o' 3R FAiféa smam v, arar ve Tl diekw B, arfar ¢ 3R ufaRiy 'R' a1d U faggd 9e9 & a1y Joft o
TG B 1 YT RS 81 91 'W' TgaT &:

1. the bulb glows brighter / dcd 3%Idd gl JHD I %I

2. the bulb glows dimmer / d¢d g am JHD AT %I
3. total impedance of the circuit is unchanged / qRuy ot wm?ﬂ Jafafdd Tedt ]l
4. total impedance of the circuit increases / URUY &1 F_{Uf PIGCIIELER]] H

Correct Answer :-

« the bulb glows brighter / I8 ISTad BIHR THGA B |

14) CANCELLED
plays a fundamental role in determining global climate patterns and daily weather variations. /
AY® FTaarg Weu 3R e Maw fifyuarsit #1 Fuia w7 A e ga yftre A 21

1. Diffusion / TR

2. Conduction / UdTgh™d

3. Convention / ﬂa%:f

4. Radiation / fafsur



Correct Answer :-
« Convention / Jdgd

15) CANCELLED

A diffraction grating has 1.26x10* rulings uniformly spaced over a width w=25.4 mm. At what angle does the first order maximum occur
when light of wavelength 589 nm is incident on it? /

T faad= AT H 1.26x10* IUR & &1 w = 25.4 Fonft F TS W T I A TUF g8 W 1 919 589nm a7 o ATl YhTR1 1 39 W
3mufard forar Sirar @ @ UuH 4 3ifipad frg ST R g g2

L 33.98°

5 16.98°

3, 15.8°

4 g.49¢°

Correct Answer :-

16.98¢

16) CANCELLED
The Einstein relationship between diffusion current “D”and mobility “ p” for an electron is: /
TP 3 & forT TR 4RT "D 3R SAfRRAT "p" F S T Y §:

D i Y ;
== Kgr , where KgT is the Boltzman’s constant and T is the temperature /
H B

%=;:zr' 35T KT dleeseld ferid R T auAe &
1.

"D

2KpT 5 = :
=TS . where KgT is the Boltzman’s constant and T is the temperature /

D_2E8T i KeT Secodls feaRis 3R T amae &

;.s_e

KpT ! . :
%=% ., where KgT is the Boltzman’s constant and T is the temperature /

[

%=Ki.aﬁ”KsTmmﬂﬁﬁm$3ﬂ'{Tﬁmﬁ%

3. g

il KT, where KgT is the Boltzman’s constant and T is the temperature /
I

-K,T, 55l KeT sSiecadid fens 3k T auae &

"D

Correct Answer :-

T . . ;
—=22"  where KT is the Boltzman’s constant and T is the temperature /

D_KT S5t ReT decaifte R 3k T amam &

17) CANCELLED



The turns ratio of a transformer used in half-wave rectifier is ny:n,=12:1. The primary is connected to the power mains of 220V, 50 Hz.

Assuming the diode resistance in forward bias to be zero, calculate the dc voltage across the load. /

3¢ aER GUYRS T Ugad TRIB IR BT WIS SMUTd (@ IR ny: ny = 12: 181 WTAURIF 220V, 50 8891 & TR AT A ST g 81
R # STt ufeRiy &1 Y1 A & g, e § S gt &) T #¥ )

1. 8.24V
2.4.12V
3.2.8V
4.16.48V

Correct Answer :-
o 8.24V
18) CANCELLED

The condition of secular equilibrium is given by: /

3ia Wged ot fRAfa e gy & st 2:

o
Ny (y-ny)
1 i
Ny -ny)
o HE Mo
MN=h N,
3.
Ny Xy
N, A,
4 Fh2 2

Correct Answer :-

M N=h N,

19) To get an enlarged and real image of an object, we can use either: /

ot avg @ emaftfa ok avafa® ofY wra w3 F g, a:

1. A convex mirror or a concave lens /ZITF?[WWE&UTEIT Wéﬂﬁmﬂwm%

2. A convex lens or a concave mirror/mﬁwmﬁgtﬂ WWWWWW%

3. A convex lens or a concave lens /ma?qaﬁaﬂaﬁﬂm WWWWWW%

4. A convex mirror or a concave mirror/m?ﬁwmmm WWWWWW%

Correct Answer :-

« A convex lens or a concave mirror/m?ﬁwm@mmmmﬁmﬂmwg

20) A concave lens of suitable focal length is used: /

IUYad BIhd daTs a1 U add ad HT YN fomaT ST 8:
1. in a microscope /Wﬁ&ﬂ’c{?ﬁﬁ

2. in a telescope /Wwff

3. for correcting myopia /ﬁﬁﬁ@ﬁ?ﬁzﬁwéﬁ%ﬁ

4. for correcting hypermetropia /Wﬁ%ﬁ%%ﬁ



Correct Answer :-

« for correcting myopia /R =R B BIH B %ﬁm

21) A plano-concave lens of focal length 10cm is cut in to two equal parts then the power of each part is equal to J

10 9t B Bivd TETS I TP WH-3Gqd AT Pl Gl RIS UM A SleI @ g, A v@s ymatwfaa . Bl
1. 5 dioptre / 5 STITER

2. 10 dioptre / 10 STATPR

3. 2 dioptre / 2 STAIPR

4.0.1 dioptre / 0.1 TP

Correct Answer :-

« 10 dioptre / 10 SR

22) The two necessary conditions for observing a rain bow in the sky are: /

ST A UV ST & 1Y & sirazae 2 &

1. The source of white light should be in front us and there should be sufficient water droplets present in the atmosphere /
A YHT BT TN SHR A ST AT 7R aTeraror # v ur &t § gt anfeu|

2. The source of white light should be in front us and there should be very less amount water droplets present in the atmosphere /
A YT BT HId SHR A SHT TMMRT 7R TAaR0r H U1 1 e d8d SH Bl § SURIT S+l =nfeul

3. The source of white light should be behind us and there should be very less amount water droplets present t in the atmosphere /
A UHTRT BT A1 gAR YIS BT ANET 3R ATATaRUr & Uit &1 g g HH AT H SURYT g1 anfe |

4. The source of white light should be behind us and there shouldjbessufficient:waterndropletspresent in the atmosphere /
A YHTN BT HId gHR Ul BIFT AT AR aTrervr & goied @ @1 e, gi=t Afeel

Correct Answer :-

« The source of white light should be behind us and there should be sufficient water droplets present in the atmosphere /

A YHTRN BT HId gHR U1 71 13T AR ararearor & gaied urt &1 58 gt anfau|

23) Acceleration due to gravity : /

TFATHYUT S HRUT SUH 0T § :

1. is maximum at the center of the earth /qza‘T & b o Sfemad giar %

2. is maximum at equator / HEI‘EIIQET R 3IHdH %ﬁ?ﬂ %

3. decreases from equator to poles / 'J-ET?H@T | ?;E}[ D AR I Eﬂ?ﬂ SITdl %
4, decreases from poles to equator / w I ﬂﬂmi@ Pl R HH BPIHT SITdT %

Correct Answer :-

« decreases from poles to equator / w I ﬂﬂmi@ Pl R HH BPIHT NGl %

24) An electric dipole of moment ‘p’ placed in a uniform electric field E has minimum (negative) potential energy when the angle between
‘p’ and E is /

g%?mﬁggaaaﬁ?@‘p’ ol & dgya fgya @) <Fa (Huner®s) fRufaw ot gidl @ 919 «p’ iR E F S w130
|



1. Zero / ][I
2. 180°

3.270°

4.90°

Correct Answer :-

» Zero /X[

25) Percentage errors in the measurement of mass and speed are 1% and 2% respectively. The error in the estimation of kinetic energy
obtained by measuring mass and speed will be: /

oA SR T1e & AU F wfersra Fear HuRT: 1% 3R 2% &1 FSH 3R 16 & T §RT 9IS s SHoil & e # Ffe g
1. 6%
2.5%
3.8%

4. 10%

Correct Answer :-

26) A shell of mass 3kg explodes in to two fragments of 1kg and 2kg. The ratio of momenta of the fragments and the ratio of the kinetic
energy of the fragments (lighter: heavier) are respectively: /

3 {1 goawT are U Ja 1 fHum 3R 2 fHun arat &Y gl ® e Sia1 81 ghsl & 7 B SAFUTd {13 ghsl o1 et SHeil o7 Srgurd
HHTT: (Gobl- U §:

L. 1:1and2:1/1:1 T4 2:1
2.1:1and 4:1/1:1 T4 4:1
3.1:1and 1:2/1:1 TG 1:2

4.2:1and 4:1/2:1 T4 4:1

Correct Answer :-

e 1:1and2:1/1:1 T4 2:1

27) A ball is thrown vertically upward. It has a speed of 8m/s when it has reached one half of its maximum height. Maximum height up to
which the ball rise is: (take g =10m/s2) /

TS g FWR F 3R daad Ba! STl 31 59 T8 SAfday FHars & Y d@ ugddl 8, 99 39! fa 8 H/A gt 31 98 siftrwan s
forg wR g ugat 8: (g=10A &)

1.8.1m/8.1
2.6.4m /6.4
3.4.9m /4.9
4.10m /10 9

Correct Answer :-

. 6.4m/6.4 W



A weight ‘W’ rests on a rough horizontal plane. If the angle of friction is O, the least force that will move the body along the horizontal plane
will be: /

wmw@éﬁwmwﬁmmﬁ%lw%aﬁwmaﬁwe%,a‘ragﬁmnwﬁ&?ﬁmm%wuﬁmaﬁ

1. W tan©
2. W sin©
3. W cot©
4. W cos©

Correct Answer :-

« W tan©

29) Length cannot be measured in: /
waTs P 9 7 =181 ATur o W
1. Candela / -S@l
2. Micron / Iﬂgﬂﬂq

3. Angstrom / @E‘Tﬂ
4. Fermi / THI

Correct Answer :-

o Candela/ %W

30) An alternating emf is given by V = 400 sin (1007t) volt. The rms value of the emf is: /
TP TATEd! emf V = 400 sin (100xt) FeT GRT AT SITAT1 3 | STHW BT SRTHEH HIA o
1.400 V

2.200\2 V

3.200V

4.100V2 V

Correct Answer :-

« 2002V

31) An aeroplane is flying horizontally at an altitude with a uniform velocity. Then the net force acting on the aeroplane is :/

TSP gaTS STeTSl U T A7 & 1Y Th ST R Sfasl TU J I 612 | 99 FaTS SeTel W HTIRd YS9 o:
1. acting vertically upwards / daidd O Y FWR DI 3R HRRA

2. acting vertically downwards / d6dd =0 2 Y 3R BrRRa
3. in the forward direction / 3l &1 fG=RM H
4. zero / R[H

Correct Answer :-

+ zero /Y

32) An aluminium disc is placed above a solenoid and a high current is sent through it .



Now the aluminium disc: /

TS Ty {3 &1 Giags & SHUR 7@ 914l § | $9S A1ead A U S URT Uil ATl 7, 3 TegHifraw f&vs:
1. is attracted by the solenoid / TATZS P GRT TN BT ST 2|

2. is repelled by the solinoid / SIS P gRT [Ieb¥id o ST 31

3. remains stationary / TR IgdT 81

4. rotates about its center of mass / §® FEHH & H% P THT A |

Correct Answer :-

« isrepelled by the solinoid / AR & ar1 fawfta fsan Gﬂ?ﬂ%l

33) When a ray of light enters a glass slab from air: /

THT B T fPR01 541 A o HId & WS A YW el 9, dl:

1. neither wavelength nor its frequency changes / - & AT iR 7 EHERED &Tqﬁf Saad! %I
2. its frequency increases / W Gi'lqﬁ‘f de STt %l

3. its wavelength increases / W FRTI%%ET de STt % |

4, its wavelength decreases / W WI%‘C‘?:? DY Epf STt % I

Correct Answer :-

« its wavelength decreases / ﬁ?ﬁ I é‘f'ﬁﬂ E?f STt %I

34) When a ray of light is incident at an angle 60° on a transparent medium, a portion of light is reflected and another portion is refracted.
If the reflected light is completely polarized, the velocity of refracted ray inside the material in m/s is: /

TE TP RS u1eas | 60 f$3 & w01 iR u=1 &1 farvor simufaa gl g, @) W= &1 ue few wfafefaa giar @ ok gum fean
Sqafda giar g | afe wrafda uer=r gt @ § Ydiea sare, anHa | ugrf® sige Suafdd o o1 ae:

1.3\2x 108
2.2\3 x 108
3.2x108

4, (v3) x (108)
Correct Answer :-

o (V3)x (108)

35) When light is incident on a thin transparent film, the light waves reflected from the front and back surfaces interfere. For near normal
incidence, the wavelength condition for maximum intensity of the light reflected from a film in air are: /

99 U Udell YRR fhed UR UahTer Smufad gidr 8, df 94 iR 1iD &1 Idg! § Wrafdd yerRiiy a3 gvaau &3l §1 fAee
T YA & g, arg # vep fhen A wrafda yem=r 3t siffiean diaar & e avneed # fufa R &

1. L=mA\/2, where m is an integer, L is its thickness and A is wavelength of light in air. /
L=m)/2, ST&f m &% QUIfeh §, L ST AIeTS § 3R 1 a1 & U & asiieed g

2. 2L=mA , where m is an integer, L is its thickness and A is wavelength of light in air. /

2L=m). 518 m U QUIT 8, L ST AICTS § 3R A a1 & UhT=l & aleed g



Y

1. . . . . . L. . .
2L ={m+ :)— . where m is an integer, n2is the index of refraction, L is its thickness and } is
& T

wavelength of light in air. /

.Sl m T O §, n2 UGS &, L sahr Aes § ARk g &

>

2L =(m+

)

b | =
=]

5

3 mra:ra‘i?ﬁ!.ﬁr i

2L =m . where m is an integer. n2 is the index of refraction, L is its thickness and i is

n;

wavelength of light in air. /

AL =m | T m T TE §, m A &, LS A & R g A

n;
4 T & AR g
Correct Answer :-
| i . . . . . L. . .
2L =(m+ :)— . where m is an integer, n2is the index of refraction, L is its thickness and X is
& I,

wavelength of light in air. /

.Sl m T Ui §, n2 TadHS 6, L sadr Aes § Ak A ag &

>

2L =(m+

)

b | =
=

wra:rﬁi?&ﬁfr 2l

36) If mass of a body is M on the earth surface, then the mass of the same body on the moon surface is: /
Tfe 7t F) Tag R TP FNe1a &1 5equw= M 8, @) 95011 31 Hag 1R 391 H6T BT gy §:

1. Zero / R[™

2. M

3. M/6

4, M/4

Correct Answer :-

- M

37) Rotational analogue of force is : /
9 BT YOI TATAT 8

1. Gyration / PIREKE

2. moment of inertia / Wf

3. angular momentum / PIURT AT

4. Torque / WTU;Uf

Correct Answer :-

+ Torque / WU;Uf

38) A pipe open at both ends will resonate at frequencies .

T RRY R gelt v gy Smgfr TR et



where n=1, 2, 3., vis the speed in the air in the pipe and L is the pipe length /

f:i:ﬂl' S8t n = 1,23.., v 989 & arg & =@ 3R L gy & @65 8

Fai % where n=1, 2, 3., vis the speed in the air in the pipe and L is the pipe length /
A

f=;=% S8l n = 1,23.., v 957 # ag T =1 3R L 957 T d6s 8

e B % where n=1, 2, 3..... vis the speed in the air in the pipe and L is the pipe length /
A a

F=i-Z Sl n=123., vIsT & dg $iI = 3R L a7 i o&s §
A

Correct Answer :-

e l =:I+E where #=1, 2, 3., vis the speed in the air in the pipe and L is the pipe length /
A

fzﬁz_’}i; SGr n = 1,2,3.., v 95T # a7 & 91e 3R L 9y ¥ o615 §
A &

39) A 30g bullet leaves a rifle with a velocity of 300ms™! and the rifle recoils with a velocity of 0.6 ms™"* the mass of the rifle is : /

30 ITH B TH FAC 300ms™! & A & [TY T ASHA A FApad 8, 3R ASET 06 ms™! F T & 1Y TS 91t 3 1 A5 T 5qHqH §:
1. 15kg

2. 1.5kg

3.3 kg

4.30 kg

Correct Answer :-

40) A particle of mass 200 g is thrown vertically upwards with a speed of 10 m/s. The work done by the force of gravity during the time the
particle goes up is: /

200 ITH ST aTAT TH BT 10 T/ &) T16 & WY HUR Dt 3R dqad BT o1a1 g1 HU P HUR JF & R [EAHYl 9 gIRT
frar T et 2:

1.-5]
2.5]
3.-107J
4.10]

Correct Answer :-

e -10J



A particle is acted upon by a force of constant magnitude which is always perpendicular to the velocity of the particle. The motion of the
particle takes place in a plane. It follows that: /

gwﬁwvﬁmmﬁwﬁmwﬁwiﬁﬁaw%h%ﬁmm%lWaﬁwﬁrwmﬁ'gﬁr%mﬁww%

1. its velocity is constant / SHPT a"T R %

2. its kinetic energy is constant / ECARIGE o fRR %

3. it moves in a straight line / Ug Udh Ieft a1 A THA B %
4. it moves in a zig-zag path / Jg é%—ﬁ% Y TR =i glar %

Correct Answer :-

« its kinetic energy is constant / W TTfae Sulf fRR %

42) A particle is projected at an angle of 30° to the horizontal with a kinetic energy E. The Kkinetic energy at the highest point is: /

TH B & A 30° F S0 R T ot £ & 14 uafia far smar 31 S=ad fag w® nfew =it :
1. Zero / ][

2.4E/3

3.3E/4

4.E

Correct Answer :-

- 3E/4

43) The mass of a certain radioactive sample is 16gram.The mass left aftens5 half livesis ./

e fAfda gttt TR &1 5erHE 169 B 1 5 SrseTa & 91 2y ST s HT. il
1. 2¢g

2.0.5g

3. 1g

4.0.25g

Correct Answer :-

44) The density of a cube is found out by measuring its mass and length of its sides. If the maximum errors in the measurement of mass and
length are 3% and 2% respectively, the maximum error in the measurement of density will be : /

TS T4 $1 U $9P STAT 3R 3P [BRI B! G5 B ATIBR F1d far Siran 81 afe soawm= iR da1s & 919 | siftraraw gfear
PURT: 3% 3 2% &, 1 T-Tcd & W9 | ARrwaw Ffe ghft:

1. 14%
2. 7%
3.9%
4. 12%

Correct Answer :-

e 9%



45) The length of the astronomical telescope when the final image is formed at infinity is 20cm. the angular magnification is found to be 4
for different objects. The focal length f; of the object and f, of the eye piece are respectively: /

g 3ddar uR Sifaw B3 &1 frafor grar 2 o @i grdte &Y dars 20 A g 81 fafira axgsit & e sivfta smas 4 urar wmar
B 9 B! Bivd TETS £, T graF & N B} Blvd TS fe, HUM: TT &

1.50m,20cm/5@1ﬁ,20®1ﬁ
2. 16 cm, 4 cm / 16 IHY, 4 AT
3.4 cm, 16 cm /4 94T, 16 ST
4. 20cm,5cm/20w,5®ﬂ°f

Correct Answer :-

« 16.cm, 4 cm /16 99, 4 It

46) The forward biased diode connection is: /

3 fd srate Hft fAe 8

-2V | A A -2V

2.

+3V I A A AN +5V
3.

+5V sy

Correct Answer :-

+5V SV

47) The force between two charges when they are separated by a distance ‘r’ in vacuum is F;. The force when they are separated by a

distance ‘2r’ in a medium of dielectric constant K is F,. The ratio F;/ F, is : /

3 3maxn & S 9 F, 8 99 fFafa d 37F A F gt o }1 IAF, 3 99 A WIAGGAP K & A1eaq & gt 2r A ST § | SUTd Fy/
FZ%:

4. 4/K

Correct Answer :-

.« 4K

48) The equation of a simple harmonic wave is given by y = 5 sin (50zt — x/2); where x and y are in meter and time is in second. The period
of the wave in second will be: /



WWWWWMW% y =5 sin (501tt—7tx/2);ﬁﬁx@ymﬁﬁmwmﬁmw%l Hhs ° IHg Bl
3rafer :

1.1s
2.0.04s
3.0.01s
4.5s

Correct Answer :-

« 0.04s

49) The maximum velocity (in m/s) with which a car driver can safely take a circular turning of radius 100m along a level road without
skidding is (coefficient friction between tyre and road = 0.4): /

T8 3if¥rean 1 (/A #) P 1Y T SR T 171 96 T T WA T$F WR 100 Hiew Bsur arehl ver guroR Als aAar &:
@R 3R TSP & ST o Taefor = 0.4

1.20
2.10
3.30

4.40

Correct Answer :-

50) The unit of self-inductance is: / TURBd Bt E'EET'&" %:

1. Wb/A?

2. H/m

3. Wh/m?

4. Wb/A

Correct Answer :-

« Wb/A

51) The Bohr’s radius of hydrogen atom is a;. The electron in the n'" orbit of hydrogen atom has a radius: /
BTGV URHTY BT IR AT 2, 31 TSSO WA & n &Y wem & gaaei- @t Bear =1 8:

1.n? a

2. na

3.ap/n

4.ay/ n?

Correct Answer :-

52) The transition stage between aperiodic and damped oscillatory motion is: /



SHAEIYF 3R qHIC SIATPRI & I TRAdIDTd AT :

1. Electromagnetic damping / f{dqgd b1 3arics

2. Low damped simple harmonic motion / 9 siavifed Wa Wtﬁ Tifer

3. Critically damped simple harmonic motion / fade srarfea WwRa GW T
4, Overdamped simple harmonic motion / sfaerauifed IR Hﬂaﬂﬁ Tifer

Correct Answer :-

o Critically damped simple harmonic motion / fawe sraufqd wRa W‘:ﬁ T

53) The wire of resistance ‘R’ is cut into ‘m’ equal parts. These parts are then connected in parallel with each other. The effective resistance
of the combination is: /

UfARIY ‘R’ TT6 AR DI ‘m’ TRTER T A HTeT 7T R 371 YR it Uh gk & GUHTGR SIST 7| $H AT BT YHTHT gfaRie gm:
1. R/m?

2.R/m

3. m/R?

4. mR

Correct Answer :-

« R/m?

54) The energy released during the fission of U-235 into Barium and Krypton is about 200MeV. This energy is equivalent to a mass defect
amu (approximately). /

Afeaw 3R forpe & U-235 & s & SR gaa St @I 200MeV 8 TE it amu (TTHT) P FHA SV b SRR &
1.0215

2.931

1661077
3.

4 222 %1075

Correct Answer :-

- 0.215

55) The magnetic field at the center of a current carrying circular loop having 1A current with radius 1m is: /

TS YRT YdIfed qaIPR U & &g A gaaig 87 et Biear 1 fier 8 o o 14 urT #:

1. po/2
2. pp/4
3.4 o
4. 2pg

Correct Answer :-

. Ho/2



The concentric circular coils of 20 turns each are situated in the same plane. Their radii are 25cm and 45c¢m respectively and they carry 0.5A
and 0.9A current in opposite direction. The magnetic field at the center is: /

20 YHTT 9Tel P iad JATPR HSal UTh T | (U &1 ITH! FIear war: 25 Tt 3R 45 At @ iR A faufia femm d 0.5 A 3R 0.9 A
U4TE $T 96 P o | % H G919 &7 3:

1. Zero / ][
2. }10/20
3. }1.0/4

4. ].10/50

Correct Answer :-

57) The sprinkling of water reduces slightly the temperature of a closed room because: /
Tl BT TP T d¢ FHY S ATTHE B YIS HH P ¢dT 8, F1P:

1. water is a bad conductor of heat / ST¢T HHI T gRT BSCIRED %I

2. water has large latent heat of vaporization / SI¢T & areftepRor | fa=ma RILSRCI a?ﬁ %I

3. temperature of water is less than that of the room / SI¢T T dTUHTA B P KL d®H %I
4, specific heat of water is high / SI¢l P! AP ST 3= gt %I

Correct Answer :-

« water has large latent heat of vaporization / SI¢] & ardienRor | faem o ST e gl

58) Four particles say, alpha-particle, beta-particle, neutron and proton aré movingwith same velocity. The maximum wavelength is for: /
S(EPT-H T, Fel-Ho1, Y 3R WeiH ATHS TR S THHE 97 S J1Y AR 9e 36 8 L ftwan aivesd 39 01 & fe 3:

1. beta-particle / Siel-Hu

2. Proton / Teld

3. Neutron / :ZE'T:T
4. alpha-particle / 3{cth[-H U]

Correct Answer :-

« beta-particle / e

59) Area under acceleration-time graph is: / <dRUI-HHY ITH & Siaild & %:
1. change in velocity / CUR: R*IRCRE

2. change in displacement / foum= & ufads

3. change in acceleration / «dXU[ o uRadq

4, displacement / fomme

Correct Answer :-

« change in velocity / CUR: R IRCRE

60) A bullet of mass 20 g is fired from a gun of mass 1 kg. If the recoil velocity of gun is 5 m/s, the velocity of bullet is: /

20 T SSIHT dTelt U el Y 1 fan e areft v diges & 131 ot 81 afe dge w1 ufadu 15 A 2, A et dran 2:



1. 250 m/s / 250 HI/A
2.500 m/s / 500 H/A
3.25 m/s /25 WA
4.50 m/s / 50 HA

Correct Answer :-

. 250 m/s / 250 HIA

61) During Faraday’s electromagnetic induction experiment the mechanical effort of movement of magnet near a coil produces electric
energy within the coil. This phenomenon can be best explained on the basis of: /

PR1S F faggd TP IRV TNT & SR TP Fodlt & UM I 3t A &1 Fifd Ty et & iR fagga ol Saa st 21
T YA DI a9 S TSN 5 SATYR WR B S bl 8:

1. Lenz’s law and conservation of energy / Tt BT FTH 3R Sl T TREUT

2. Lenz’s law and conservation of charge / Tl T T 3R ST BT TREf0T

3. Faraday’s law and conservation of energy / TS &1 W 3R Soif o1 TRefur
4, Faraday’s law and conservation of charge / RIS T F99 3R ST T TR&T

Correct Answer :-

« Lenz’s law and conservation of energy / AT T 9 3R Sl T TRETT

62) A light emitting p-n junction can also be made to emit and thus can serve as a laser../

IAflTd B & foIE U UhT=r ST p-n | o §971E ST el & SR 56 UPR Aok & 37 § TGN H 141 51 JhaT gl
1. stimulated emission / Teed Seqoi
2. spontaneous emission / ¥dd: IS

3. spontaneous absorption / ¥dd: S[TITET
4, induced absorption / U ST

Correct Answer :-

. stimulated emission / T IToi

63) A point source is placed at the first principal focus of a convex lens. The shape of the wave front of light emerging from the convex lens
is: /

T fig O 3 U 39d A9 &b Ugd GBI B UR QT AT 8 | 3¢ A9 & IUIA YHTRI & a7 MY &7 SMhR gian &:
1. converging spherical wave front / ﬂ'ﬁﬁﬁ BId AT R aT iy

2. diverging spherical wave front / TR MATHR a7 e

3. plane wave front / JHIA AT R

4. cylindrical wave front / SAHR T R

Correct Answer :-

« plane wave front / JHdT SRR RIL

64) A point object is placed at the center of a glass sphere of radius 8cm and refractive index 1.5. The distance of the virtual image from the
surface of the sphere is .



ﬁws%@hﬂaﬁvmmmmﬁﬁa%WTﬁﬁ%hﬂwﬁgﬁaT@m%lTﬁﬁaﬁmﬁamnvﬁuﬁrﬁaaﬁgﬁ
|

1.6cm/ 6 TH
2.8 cm /8 AUt
3.4 cm/ 4 9T
4,12 cm/ 12 99

Correct Answer :-

. $cm/8IH

65) If a body A of mass ‘m’ is thrown with velocity ‘u’ at angle 30° to the horizontal and another body B of the same mass is thrown with the
same velocity at an angle of 60° to the horizontal, the ratio of horizontal range of A to B will be:/

TfS ST 'm' AR TP FIPTT A BT &fIeT A 300 F P11 IR A ' & T HHT 1T 2 3R I Foa0T= a1a g o B &) dfewr @
60 & HIUT U FHT T & HTY b1 SITaT 8, °f A & B & &fde IRIRT o7 3UTd &:

1. 1:3
2.1:43
3.43:1

4.1:1

Correct Answer :-

66) If a spring of mass 20 kg has a spring constant of 5 N/m, then its time period is: /

g 20 fPaRTa FowTE aTet T fBRT &1 HHM! RS 5 N/ T EHe! ¥ag $aftns:
1. 4 seconds / 4 YhS

2.2 seconds / 2 YHS

3. 27 seconds / 21 Y S

4. 47 seconds / 4n THS

Correct Answer :-

« 4nseconds / 41 AH S

67) If a ferromagnetic material is inserted in a current carrying solenoid, the magnetic field of solenoid : /

i YRT 981 HA a1l T uRTTIeT & ieR U de-gaa iy uerd &1 ufdy w=man oimg, dt =i &1 gaaia &7
1. slightly decreases / %ﬁ@',T Y SITdl % |

2. slightly increases / ?‘hg[ EERSIGLH %I

3. largely increases / PIHI §G db EERSIGLH % I

4. largely decreases / P! §g dP T Il % I

Correct Answer :-

o largely increases / BB B dd dg SITdl % |

68) In a full-wave rectifier, the current in each of the diodes flows for: /



T YUI-AT YRS H, TP STIS H [y aTe THS [0 T8 &:

1. Zero time less than half cycle of the input signal / RTYC R & s T 9 I ‘1%[ dHY
2. The complete cycle of the input signal / R4 PG E[UTW

3. Half cycle of the input signal / R4 e o1 3fs 9%

4. Less than half cycle of the input signal / 1Y Rua & g Iw A HH

Correct Answer :-

« Half cycle of the input signal / RT4C Rva &7 31 Tp

69) In a junction diode, the transition capacitance is proportional to where X is the width of the depletion region. /

U i STaTS H, SaRiiaR ynfdr F guTUia® gt 8, 5el X Raa ga P s 81
1. X
2. 1/X?

3. 1/X
4, X2

Correct Answer :-

. I/X

70) In a pnp transistor circuit, the collector current is 10mA. If 90% of the holes emitted reach the collector, the emitter current will be: /
T Higadt gifoRer avuy & TEIT6ET U1RT 10 mA 81 afe Sxafdla fos @190% YT TIe! a% ugadi &, al Scasid YR e gii:

1. ImA

2. 10mA

3.9mA

4. 11.1mA

Correct Answer :-

« 11.1mA

71) In a common emitter amplifier, the input and output resistance of the circuit are 400 Q and 4k Q respectively. If the current gain of the
transistor is 100, the power gain of the amplifier is: /

TP T S0P TR §, URUY & 3Ye T4 3r3eye UfaRIY shHRT: 400 Q TH 4k © B €1 afe TifoRer &Y uRT 3 100 8, &Y
TRAIBTR 3t fagyd afs @

1.4x10%
2.4x10°
3.10°
4.10%

Correct Answer :-
. 10°

72) In a half wave rectifier circuit, operating from 50 Hz mains frequency, the fundamental frequency in the ripple would be /



SR [GEHRI TIRTY H, 50 Hz DT BT AT H TIRATAT B UR, SHIHBT H HITSTD AT HH gRI:
1.25 Hz
2. 100 Hz
3.75 Hz
4.50 Hz

Correct Answer :-

« 50Hz

73) As per Bohr model, the minimum energy (in eV) required to remove an electron from the ground state of doubly ionized L; atom (Z = 3)

is: /

IR Hisd & R, SR SMAIHd L; TRHTY[ (Z = 3) & 3ATel ATV 3AGE [ B FHepTeq F 1Y sz gAadq Sl (ev F) 8:
1.40.8 eV

2.1.51 eV

3. 1224V

4.13.6 eV

Correct Answer :-

e 1224V

74) A cube has a side of length 1.1 x 1072 m. Its volume is: /
TP U9 & fPTR BT da18 1.1 x 102 WX 21 SHDT M &
1.1.0x 100 m3

2.13x10°m?

3.133x10°%m3

4.1331x10°m?

Correct Answer :-

¢ 13x10°%m3

75) A beam of electrons is used in Young’s double slit experiment. If the speed of electrons is increased, then the fringe width will .

T & Yo (Eud e wahT § gaaei=l @t U [ 4 (i9) &1 SuaiT f5ar wirar 81 9 saeei=i @1 °ard 9erdl ot 7, ot

1. fringe will not be seen / 3UTd (fﬁ’ﬁf) el fo
2. decrease / hH Eﬁ"’ﬁ
3. remain same / JHH Q%‘i

4. increase / @%‘

Correct Answer :-

 decrease / PH EﬁTﬁ

76) 500 g of ice at 0° C is mixed with 500 g of water at 80° C. The final temperature of the mixture is: /



09C TR 500 ITH TG BT 80°C TR 500 ITH 9Tt & A1 Farerman srar g | frsror &1 sifow arowm= 8:
1.0°C

2. less than 0° C / 0° C 4 HH

3.40°C

4.80° C

Correct Answer :-

« 0°C

77) A body of mass 3kg is kept stationary by pressing to a vertical wall by a force of 200N.the coefficient of friction between wall and body is
0.3. then the frictional force is equal to:(g = 10m/sz) /

200N & TP 9o gRT TP HealeR AR WR 3 fFAU™ gouH= ara ve Ao &) fRR w0 A v@r orar g1 dar ik e & &g afor
BT IUNP 0.3 81 O Tf0r 96 B: (g = 10m/s?)

1. 30N
2. 60N
3.3N
4. 6N

Correct Answer :-

« 30N

78) A body has a charge of -3.2pc. if it has 2 x 1013 protons, the no of electrons present in the body is : /
TS For & -3.2pc SMAR 71 A T 2x1013 UietF §, @t e # His[g a4l 31 68 5:

1.4x 1013

2.5x1013

3.2x1013

4.3x 1013

Correct Answer :-

. 4x1083

79) Standing waves cannot be produced: /
STt Y 1 Frfor 76y fosa o e
1. on a string clamped at both the ends /
SRR R a3 98 3|
2. On the string of a sonometer wire/
T RR IR g o g HXb 3R GO R TR Jad dbp |
3. when incident wave gets reflected from a wall /
S ST AT IR & TRTaffd g S B

4. when two identical waves with a phase difference of m are moving in the same direction /

S HATR 7 P 1Y & JAF a8 FHH = & ot sgat g1



Correct Answer :-

« when two identical waves with a phase difference of @ are moving in the same direction /

TS HATR 7 P 1Y & AF a1 J9H fe=n F o sgat g1

80) A quantity of heat required to change the unit mass of a solid substance, from solid state to liquid state, while the temperature remains
constant is known as : /

%mu%rﬁ%m‘émﬁﬁmmﬁm STRIT H g & U TaTIP ST F1 A1 B! T HEd 8, STdih dargq=
Yedl&:

1. latent heat of sublimation / J&IUTAH &1 BILSRCA |
2. latent heat of fusion / Herdd Pl RILSRCL I

3. latent heat of vaporization / DR Dt Tt SHHT
4, specific heat capacity / fafRry ST e

Correct Answer :-

« latent heat of fusion / HeTd 1 W ST

81) If R is the radius of a planet, g is the acceleration due to gravity, then the mean density of the planet is given by : /
Ife R T U @1 1 8, @Y ¢ TEaTp YUl & HIRUI @RI 8, d) U8 BT 39d g FHUTIIR 8-

1. 3g/4nGR

2. 3gG/4nR

3. 4ngR/3G

4. 4nGR/3g

Correct Answer :-

« 3g/4nGR

82) Alternating current cannot be measured by d.c ammeter because: /

ToATad! URT Bt faw URT (S THtex gR1 8 9an o uhar ¢, i

1. d.c ammeter get damaged / f&¥ 4RT (S THieR &iferra 8t ot 81

2. average value of current over a complete cycle is zero / Th U;Ufﬂ?ﬁ H YRT BT 3Gd 7 YA a SITdT %I
3. a.c cannot pass through d.c ammeter / TTad 4T, foF urT (Sl witex & Arem § 78 ToR It 3|

4. a.c changes directions periodically / TTad! YRT IHY-JHY WR = sgad g |

Correct Answer :-

« average value of current over a complete cycle is zero / Uh U;UTEIEF T YRT BT 3 A Il B oaT g

83) de- Broglie wavelength of an electron accelerated by a voltage of 100 V is : /
100V & dice §RT @Rd gaag &1 Sl-shal avrewd e 8:

1. 0.246nm

2. 0.123nm

3.0.061nm

4. 0.17nm



Correct Answer :-

e 0.123nm

84) Two gases are at absolute temperatures 350K and 300K respectively. Ratio of average Kinetic energy of their molecule is:/
31 TR7 SPHT: 350K 3R 300K P Ui aT9HTE R € | 39 3ru3if F1 3 TIfaet Heif &1 3rurd &:

1. 6:7

2.7:6

3.36:49

4.49:36

Correct Answer :-

85) If the number of turns per unit length of a solenoid is doubled, its self-inductance will: /

Tfe ue uRRfereT 3t ufa so1E dars & grTal &) H= SREHL 8 STl 8, o 39T WP« g :
1. be halved / 3{TUT 81 ST

2. be doubled / GRIAT 1 ST

3. remain constant / FRR I

4. become four times / IR ﬂ:ﬂﬁﬁ SITEAT |

Correct Answer :-

+ become four times/ﬂ'l?ﬂqTEPf\_fllQ‘ Tl

86) In series combination of ‘n’ cells, in order to get maximum current through the circuit, the external resistance ‘R’ and internal
resistance ‘r’ of the cells shall be related as: /

gfuy & ATenH | SAfeaw Uare T B34 & fore 'n' Tal & oft Jaeq |, A b 1S ufeRiy 'R 3R 3iafte ufaiy v B 39
¥ ¥ Yefta foar sme:

1. R<<nr
2.R=r

3.R=r1/n
4. R>>nr

Correct Answer :-

¢ R>>nr

87) Ina single slit Fraunhufer diffraction experiment x; and x, are the distances of 1st and 2" maximum from the center of the diffraction

pattern (Assume that angular spreads of maxima and minima are small). Now x;: x, is:/

TS Uohd (e WHgwR faad= Wt 4 x, T x, , faad= 9e+ & g @ yyw vd et siftreaw g8t € @ o 7 afeam d i &
HINT AR B &)1 3T x;: x, B

1. 3:5
2.1:3

3.34



4.4:3

Correct Answer :-

e« 3:5

88) 20 A current is flowing through a straight wire. The intensity of magnetic field at a point 10 cm from the wire willbe_ ./
20 TR F YRT TP dft MR IR A yaiRa S W I aR A AN Fgiim s g Fgeomeastdiaar . grf
1. 4 x 10°°Wb/m?

2. 4x 10°Wb/m?

3.2 x 10°Wb/m?

4.8 x 10°Wb/m?

Correct Answer :-

e 4x10°Wb/m?2

89) CANCELLED

The existence of discrete states with discrete energies of a wave is based on: /

T TR B ST Sl P A1Y AT HTRIT T e §9 W SATUTRE el 8
1. Pauli’s exclusion principle / Gttt 1 Suasi Rigid

2. Heisenberg’s uncertainty principle / %W'fﬁ ST Rgia

3. Schrodinger’s wave equation / YITSTR BT R THHRT

4. Confinement principle / FApIeAHC Rigid

Correct Answer :-

+ Confinement principle/mﬂ? i

90) CANCELLED

A good amplifier is one which has _____ input resistance and output resistance. /
TP BT uRadew ag g, i sAge ufoRiy ok 3T3eye ufaRiy gar 81
1. high, low / 3=, g

2. high, high / 3=, 3=

3. low, low/ﬁg, ﬁ'{;[

4. low, high /799, 3=

Correct Answer :-

- high, low /3=, g

91) CANCELLED

A couple produces: /

TP I T AT

1. no motion /ﬁ'ﬁt"lﬁf '_‘|€T

2. linear and rotational motion / X% SR 'Ele:Uf:f Tt



3. purely rotational motion / ﬁ&ﬂ@ 0y ‘{Uﬁ md
4. purely linear motion / ﬁ"{l&' ESUEReCi L]

Correct Answer :-

« purely rotational motion / ﬁ'{],?s{ LUk Eﬂjﬁ T

92) A black body is at a temperature 303 K. The energy emitted per second per square meter from it is proportional to: /

TP 1A (BT BT AU 303K B 1 3TQ Sfia ufa Aos ufa vt fiew ot sad srguifa @:

1. 3003

2.300
3.3034
4. 3032

Correct Answer :-

. 3034

93) The acceleration-time graph of a moving bodyis shown in the figure below. The maximum

change in velocity of the body will be: /

s g T FT cavorEaT o 3R e v Oy F o = 1 Bem &
Mﬁmqﬁaﬁﬁmz

accelerati

(m/s?)
Time(s) -
1. 60m/s
2.300m/s
3. 600m/s

4. 120m/s

Correct Answer :-
e 60m/s

94) Two forces each numerically equal to 5N are acting as shown in the given figure. The resultant

force has magnitude: /

ar 1 A ¥ gdd TEEER 5N & SRR §, s = & g a4 § s6a AqeR
FRR §1 aRomHr ger &1 aRAr §:

|

SN

60° 600
AN

SN
1. 25N
2.5N

3. 5V3N



4. 10N

Correct Answer :-

« 5N

95)

A sinusoidal voltage of r.m.s value of 220V is connected to the junction diode and a capacitor C in
the circuit shown below. Here half wave rectification occurs. The final potential difference (in volts)

across C is i |

220V % 3R.UH.TH HAA Il Teh SAGh T dlecel T saAE siR v gafm C &
qﬁwﬁ;ﬁﬁmmmﬂﬂwaﬁgmﬁmﬁmqﬁ%maﬁmﬁcﬁ(ﬁwﬁ)
ifas AsaaR @ = &

D

1. 220

2.440
3.311

4,283

Correct Answer :-

« 311

96) A nucleus of *#3pu decaysto Pk by emitting

Fcafola @R §U Hpu &1 Tah ollfeieh, Hpe 7 &T7 8T 1A &1
1. 9 alpha and 12 beta particles / 9 3{cthT 3R 12 der w0
2. 9 alpha and 6 beta particles / 9 3{eth] 3R 6 ST B
3. 6 alpha and 9 beta particles / 6 3{eth] 3R 9 T B
4. 6 alpha and 6 beta particles / 6 bl 3R 6 fer Hur

Correct Answer :-

« 9 alpha and 6 beta particles / 9 3{eth] 3R 6 dleTH0r



The area enclosed by the graph shown for a particle in one-dimensional motion gives: /

T HIOEY Y F U FUT F AT gfT T I gERT T &9, I8 3T ¢
|
Force :

1. kinetic energy / Tfas St

2. Power / ifad

3. change in kinetic energy / Tfas St § afkad=
4. Work / &4

Correct Answer :-

« Power / fad

98) Moment of inertia of a ring of mass M and Radius R about an axis passing through the center and perpendicular to its plane is I. The
moment of inertia about its diameter is: /

U M 3R B30T R arelt T SIS &1 Ssaryul 18, Wil Fx A EIdx oA aTell 3ef R ISP Udg F qaad ¢ | 3HD oI A JTSaryul 8:
1. IA2

2.12

3. I+MR?

4.1

Correct Answer :-

« 12

99) 440 volt a.c is changed to 2200 volt a.c through a step-up transformer. If current in the primary is 5A, the current in the secondary is: /
TSP Te-3(U TIHBTHY & ATH F 440 diee TH o1 2200 dice TH & ggar sirar 1 af wrufire # 9RT 54 8, @ fgdus & arT 8:
1. 1A

2.2A

3.0.5A

4. 1.5A

Correct Answer :-

100) In current electricity, Ohm'’s law is obeyed by all ./
figgaurTd siu b fFrauesraes grifearsman gl
1. Liquids / ECl

2. Solids / Gl

3. Ohmic devices / 3TgTdh SUHRT

4. Gases / 11
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